Parameter Variation ag(my) mf()le [GeV]
Fit uncertainty
Total Ax? =1 +0.0016 0.7
Model uncertainty
fs fs =0.5 +0.0001 0.0
fs fs =103 0.0000 0.0
2. 2. =50GeV? +0.0002 +0.1
2. 2. =25GeV> —0.0004 ~0.1
M, M. =149GeV  40.0001 0.0
M, M, = 1.37GeV 0.0000 0.0
Total “o.0008 “on
PDF parametrisation uncertainty
Hi, ui, =22Gev?  —0.0001 0.0
Hi, i, =1.6GeV>  +0.0002 0.0
Ay set to 0 +0.0002 —0.1
Eg setto 0 +0.0008 0.0
Total fg:ggg? —0.1
Scale uncertainty
Uy variation ur=H +0.0004 —0.2
Uy variation u, = H/4 +0.0007 +0.1
Ug variation ug = H —0.0002 +0.3
¢ variation ug=H/4 +0.0001 —0.3
Uy Variation peg = H +0.0004 +0.1
Jy ¢ Variation uee = H/4 +0.0011 —0.2
alternative p, Hpg = H/2 —0.0005 +0.1
Total oo o3



